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Division (International) with a Helper Grid Name:
Solve each problem. Answers
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Division (International) with a Helper Grid Name. Answer Key
Solve each problem. Answers
1) 81 2]e 2) 453|3 3) 535]9
-6 135 -3 151 -0 59 1 135r2
21 15 53 151
-1/8 -1/5 - 4|5 2.
32 03 85
-13/0 -3 181 3 59r4
2 0 4
4 273
5. 90 r5
6. 126
4 [54/6]2 5 54/5|6 6) 2/52]2 7. 4912
-4 273 -0 90 -2 126 2
104 54 05 8
-|114] 1514 - [4] o 105r3
06 05 12
- 6 -0 -11/2
0 5 0
7) 1938l4 8 20 4|6 9 6 33|6
-0 419 -0 3 4 -6 105
19 20 03
-16 -1'8 -0
38 2 4 33
-136 -12/4 -13/0
2 0 3
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